Z
[IA]

O]l & AF & & Ml A

20219 &= =0l &t gt

Al

o
[0l
B>
40
0z
=]

SM: BASIMD
Hu: HOISHR JIBAIL 25

e XNF=EE HoIS2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
= A 2| At 3,362,983 2,782,711 580,272
= 519,303
Jl 11,204
= 85,487
= 2,746,989
HOI2Hd2l JIBAIE &= 2,957,501 2,509,539 447,962
= 461,700
J| 11,204
& 54,353
= 2,430,244
AN=stdy HolS22l 2,957,501 2,509,539 447,962
= 461,700
J| 11,204
o= 54,353
= 2,430,244
gte| =l HASE A 5,500 0 5,500
201 et 9| 1,000 0 1,000
01 AR 22l ] 1,000 0 1,000
OFAMY AR =& I Hl 1,000,000& 1 1,000
202 04| 2,000 0 2,000
01 2L HI 2,000 0 2,000
OFAHMNY AR =X Y| 2,000,000 «1 2,000
203 €2 F=&d| 2,500 0 2,500
03 AIZH =X 2 F XY 2,500 0 2,500
OFAAM HRFA 2,500,000 =14l 2,500
LESY0E EH XNEAY 764,000 786, 150 A22,150
= 382,000
= 382,000
402 SI2vXHE0| ™ 764,000 786, 150 A 22,150
= 382,000
= 382,000
03 I 2t B A HI 764,000 786, 150 A 22,150
OLS£W0E EH NEAMY(EAH)
688,000,000& 14 688,000
= 344,000
= 344,000

OLFEHO0E EAH NI3AMD(HE)

76,000,000& x1& 76,000

= 38,000

T 38,000
oHM S A3 el 40,700 0 40,700
201 L Et2A | 40,700 0 40,700
01 AtR 22l | 40,200 0 40,200
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SM: BASIMD
Hu: HOISHR JIBAIL 25

&S NS HIIS2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O&HA=E otd2el JH0IE=S M=
30,000& 40 1,200
ONHHHEZE NEEH 222 7Y
1,000, 000& 14 1,000
O&dH g2 =23 1= 1,000,000& 14 1,000
OMH 4R =X E2EE(2EM . 8% 5)
2,000,000 14 2,000
OZd0IE(MHH) Meldl S 35,000,000& 14 35,000
02 =224l 500 0 500
O&H g2 FA RERS 500,000& 14 500
ZSdI0IE &= A 18,000 0 18,000
= 9,000
e 9,000
207 A RO 18,000 0 18,000
= 9,000
i 9,000
01 2339l 18,000 0 18,000
O£dIOIE H==Z A 18,000
= 9,000
s 9,000
AT 2 H=E¢ 12,449 0 12,449
J| 11,204
< 622
[ia 623
301 LeHEBAF 12,449 0 12,449
J| 11,204
< 622
[ia 623
12 J|EtE4 = 12,449 0 12,449
O AHIi=H=™ 12,449
—QAMEZN 8,448,960& 14 8,449
J| 7,604
< 422
s 423
—2%=0 4,000,000& » 1 4,000
J| 3,600
= 200
e 200
MedISEH =& 1,417,295 1,101,900 315,395
201 ¢er24] 125,763 175,288 A49,525
01 At 22/l 111,855 162,860 A51,005
OXgdl =HE REEFY 7¢
2,000,000& »14 2,000
OSAESRHIZE SZL==HEI ME & As2
2l 6,000,000 » 14 6,000
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SM: BASIMD
Hu: HOISHR JIBAIL 25

&S NS HIIS2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OSAERHIIZ SEM 222 A
3,000,000& =14 3,000
OMaMy )l ZelthEs 88 S
3,000,000& =14 3,000
OAEIA HZEH 3,600
—HEHII= &5 AEIA 800& *2,000& 1,600
— MY DI ZSEHM et AEIH 800& *2,500% 2,000
OXdzs 22 =X 222 MEA(SSH, M
285 s) 5,000
—s=9 3,000,000& x1H 3,000
—EB2s 2,000,000 x 14 2,000
OMIIISENH & HIISHHEAMYE 28 S
=]l 1,500, 000& 14 1,500
OHYISHHEAMEE NE=EHEE =25+ 1,400
— &3 150,000& x4 H 600
—H&= 200,000& »4H 800
OSASRHIIZ +ASAX Sl
3,000,000& x14! 3,000
OSAMERHIIE =HBAX s 2
1,000, 000& 14 1,000
OLIMX & Meldl Mel HIZ
5,000,000& 14 5,000
QuEMY I (ZHAIE BH) SAL =Sl
3,000,000 »14 3,000
OSAMSFHII=Z SEHMalIl SUHE
47,0002 =110 2 «15CH 7,755
OfY 28 22 sygxy
60,0002 x11Z x102] 6,600
Oo2da Ag=s s ¢ 3,300
—&g=s § 7Y 200,000& 11X 2,200
— &g 2 100,000& 11 1,100
OFH 2401 Mel 30,000,000 x 14 30,000
Osg XdiJl =H SMK =l s
2,000,000& » 14! 2,000
OMYBEHIIZ HE £L2  600+10,0008 6,000
OMEHIIZ2 +Z28 A 2587 2
200,000& »46H 9,200
OFAYE A" SHADSE FAHALE 222
| 1,500,000 «5JH & < 7,500
OZ2=ZAHREHY KA A
2,000,000& »14! 2,000
02 =224l 13,908 12,428 1,480
OmVIs2d 2aXMe 2E7Y 1,008
—2otE 380& *2,0000H 760
—SJRE 2,480& 10004 248
OCCTV & RFID 82123 & 4,000,000 14 4,000
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: x4A_<‘3,|AH_]|>

M HOISHMel JlEAIE &5
I MHE=E HIIS2C

(o
SN ED B (3H) - MEAY - BAS %Ei HD=2
Ost=HII283 H3ldl 2,000,000 x1 2,000
OMEHIIZES =HEAE HEESH|
150,000& *46H 6,900
202 o4l 8,000 10,000 A 2,000
01 2L Y| 8,000 10,000 A 2,000
OHII SHHSAMYE NESHS |
1,000,000 x14 1,000
OHJIE2 EYHED Of2tetx: oyl
2,000,000 1 2,000
OMEMY I (ZDALY Bt2) =128 H2| X
2 o Hl 3,000,000 1 3,000
OSAMZRHIIE =HSAMA SEE W
2,000,000 x1& 2,000
206 M = dl 92,232 91,432 800
01 X2 Hl 92,232 91,432 800
OAUZSSHHNSE L WSOt H & 41,700
—A2UAEEE 104 402! *60, 00004 2,400
—A2AESE 204 602 *120, 0000H 7,200
—A2UESE 504 120 210, 00004 25,200
— OHE=0HCH 104 380 *5,0000H 1,900
— HE =00 504 5002 «10,0000H 5,000
OHEZES, HEX £=HE F2¢
500,000 =74 3,500
OSAZFHIIZ 4FHMNS M 2L
100,000& x50= 5,000
otuzs 2el=HEg 2 1,000, 000 =8Il 8,000
ong2s =12 dsss MH
2,000,000 =14l 2,000
onMgass 22l=HE M&E 2
500,000 x 154! 7,500
OoMgas 22=Hl O 2¢
5,000 x500H4 2,500
oNegass 222=HE 0t ¢
350 x3000 *12& 1204 &~ 1,512
OsAl28HII2 & MZ(3L,5L,60L,120L)
5,000,000 =14l 5,000
OSAMZERHIIZE =HE)| F¢ 15,520
—&J| 32l 3,600 x200H 720
— &J| 52lH 4,000 *200H4 800
— 27| 602l H 30,000 200K 6,000
— £J| 120214 40,000 2004 8,000
207 I & d| 5,000 44,000 A 39,000
01 d32E<H| 5,000 44,000 A 39,000
SAS U HEHIIS ISl 2IHA o
249 5,000,000 14! 5,000
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SM: BASIMD
Hu: HOISHR JIBAIL 25

e XNF=EE HoIS2el (2 &HH)
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
301 et A= 60,000 300 59,700
12 JIEtE2 A= 60,000 300 59,700
OMEH ISR B2AYE SMX20 29
5000 2~ %100,000& x12& 60,000
307 2Iz2to| A 586,300 442,880 143,420
05 QIZ2tR &2 586,300 442,880 143,420
OSASFHII=ES FEHE 1,850=x200,000& 370,000
O=HEI % EHII=2 AKX
600& x350, 000 210,000
OSAEZHIIE S FA=2
(14,000 *350H 122 )+( 14,000 = 1501 =2 & ) 6,300
308 XHXIEH SO0l & 311,500 318,000 6,500
07 AXSHHZ2HES S 311,500 318,000 6,500
OFZFA AANAME HIIS BA++E
1,400€ *100,000& 140,000
OMEHIIE HESLS
(1,400 10,0002 )+(500E *15,000& ) 21,500
OZAMEEZE JHSIEHEANE HEEE BH
=3 150,000, 000& 1 150,000
401 AlEHIZL 2 0HY| 100,000 0 100,000
01 Al&H| 100,000 0 100,000
024 WSS VI FABL X4
100,000,000 =14l 100,000
405 XHAHFE S HI 128,500 0 128,500
01 XAt 2 ZF S| 128,500 0 128,500
OMEHIIS(EZNEE) &H g 22
128,500,000 =1CH 128,500
s 2922 267,700 290,700 A 23,000
201 £Bt24d| 240,700 263,700 A 23,000
01 AP 2t 2| H| 100,480 125,480 A 25,000
OXlotg =& HA 510, 000& *3H A *4 3] 6,120
O Ml =2HA 350,000 x123] 4,200
QHIIZ2XelAld Mg o™ 8 S
5,000,000 14! 5,000
OEEMESHEAIE HEEE =HHM2 SAH
INEE=2=d:]] 3,000,000 =1 3,000
OMEHSHHIIS(Hs S) fE Ml
800,000 *63| 4,800
O&tZd0lstad &g=s o Az 2 10,500
- &= 7,000,000& 7,000
— XA 3,500,000& 3,500
OFI|etE e =2 150,000& *123] 1,800
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SM: BASIMD
Hu: HOISHR JIBAIL 25

&S NS HIIS2e (&)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
OBt HIIZ MHSAHZ ALY S22
1,000, 000& =1 1,000
Oos28A =2l 5,000,000 » 14 5,000
Olg & & 32,580
- =3 60,000& »365 21,900
— 24 60,0002 118 7,080
— =X (H0E &) 60,0003 60 3,600
OgAE &7 AMEH 60,000& *43] 240
OUHEg®E 2els RAE= 5,000,000& =14l 5,000
O&F=) gz 700,000 *2CH 1,400
O&E=HelANd SR &2 5,000,000& =14l 5,000
ONEAIE 2els 425 7
6,000,000 » 14! 6,000
OAR A Rolichs MY AAl
80,0003 *204 #2323 1200 & 3,840
Ol 2SIl HII2 ™Meldl& 2,000,000 x14) 2,000
OHLZHIE HII= XMlElE
3,000,000 » 14! 3,000
02 232gHl 140,220 138,220 2,000
OUNEAE SR (2=UIH S)
5,000,000 »14 5,000
O&=HelANd SR &2 9,000,000& » 1 9,000
OHEANE 2F 2ERk= S 26,100
—dIIRa 2,000,000& 1204 & 24,000
—&=ER3 150,000 1200 & 1,800
—tAZ 100, 000& 32l 300
OAMEH tetx 5,000,000& » 14l 5,000
O&stx EAatl 60,000& »23] 120
o=Ex& | 95,000
—SASFRHIIS =HIEEXNE
10,000, 000& =4CH 40,000
—SEMH(HEE A, E2)
10,000, 000& »3CH 30,000
— ST (24I1,2H) 10,000,000 «2CH 20,000
— Q03X dEXEH 5,000,000 = 1CH 5,000
206 T2 HI 27,000 27,000 0
01 =8l 27,000 27,000 0
Oz &gdts 2 9,000,000 » 14 9,000
OXot==ti M= & XotHAAE 2 =25 +
9,000,000 x 14 9,000

OFE+XMcIAIE BXZ uiM S

9,000,000 «1& 9,000
St&ot el HaALS 85,714 92,000 NG6,286
= 60,000
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SM: BASIMD
Hu: HOISHR JIBAIL 25

&S NS HIIS2e (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 25,714
101 1244 dl 80,000 80,000 0
= 56,000
s 24,000
04 JIZHHZ2XREES 80,000 80,000 0
O5Std 2RM Il =HAY 80,000,000 x1& 80,000
= 56,000
[ia 24,000
201 Let2d] 5,714 12,000 A6,286
= 4,000
[ia 1,714
01 At 22l 5,714 12,000 A6,286
Ootd BRMAYI =HAY  5,714,000& x14& 5,714
= 4,000
fia 1,714
g8Z=H MDIMHe=2ES 19,191 19,191 0
< 9,595
s 9,596
308 AHXIEHHSOIA 19,191 19,191 0
< 9,595
s 9,596
07 IXNHMAR S = 19,191 19,191 0
O&&Z at=2MgDl 3ty XI&
19,191,000& 1 19,191
< 9,595
s 9,596
SZEHHE =A%z X&E 47,000 41,028 5,972
= 4,700
< 4,700
[ia 37,600
301 EEd = 47,000 41,028 5,972
= 4,700
< 4,700
[ia 37,600
12 JIEBHE 4= 47,000 41,028 5,972
OsZHtHlE =A243 X&
47,000,000& » 14 47,000
= 4,700
< 4,700
s 37,600
SAEH A2 =AHA24H XA 6,452 6,830 A 378
< 1,936
s 4,516
301 LA F 6,452 6,830 A378
< 1,936
[ia 4,516
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SH BAAMY
M HIISH2 JIBAIE &5
o9 NEess HIlSUL (298 R)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
12243 6,452 6,830 A378
sorsly AR AH2A X
6,452,000 1 6,452
< 1,936
e 4,516
SsEotY &F KNEAY 20,000 20,000 0
= 6,000
s 14,000
401 A& HI R 201 I 20,000 20,000 0
= 6,000
s 14,000
01 A& HI 20,000 20,000 0
ZSHHY HE MY
5,000,000 =44 2~ 20,000
= 6,000
s 14,000
Mg 2t Hols2 del XN 60,000 77,280 A 17,280
< 18,000
s 42,000
307 gl2tol & 60,000 77,280 A17,280
< 18,000
s 42,000
05 BIZHRI & 3 60,000 77,280 A 17,280
OoNgs 2ot HWils Mel X
60,000,000& » 14 60,000
< 18,000
s 42,000
MEHIIE HE HHEAE &X 60,000 70,000 A 10,000
< 18,000
s 42,000
401 A EHI L2 O 60,000 70,000 ~10,000
= 18,000
s 42,000
01 A& HI 60,000 70,000 A 10,000
OMEHIZS HE HHEAME &X
60,000,000& 14 60,000
< 18,000
s 42,000
Haes3S(30H 5) =) nsHes X 5,000 4,460 540
< 1,500
s 3,500
201 Let24dy] 5,000 4,460 540
< 1,500
s 3,500
01 At 22/l 5,000 4,460 540
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SM: BASIMD
e HOISHE JIBAIE &5

&S NS HIIS2e (SH9: &)
— SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
ONgss (801 ) =H nEss N2
5,000,000 » 14 5,000
= 1,500
s 3,500
PEe J2&d 24 128,500 0 128,500
101 @14 dl 20,000 0 20,000
04 JIZHHZ2XNHEE S 20,000 0 20,000
OMEHIE JlsKele 29
2,000,000 »2H «501 & 20,000
201 £B-2%H| 73,000 0 73,000
01 At 22/l 42,500 0 42,500
O=EtHd3z2s =24 2,500
— MY EHSEI GY etLiE AX
2,000,000 » 14l 2,000
—dAEE ¢ 500,000& » 14! 500
OHYI2 2SI 1ot s 822 MA
2,000,000& » 14! 2,000
OUAMX & MeJl Mel "H&
5,000,000& x 14! 5,000
OHYIZ2 28SJ ©¢&8 TV K2+
5,000,000& 14 5,000
OgdstE 4X & SX2el 8,000,000 14! 8,000
O8Y REEI & UX M| Ml XA
13,000, 000& =1 13,000
O 2y mE HH X2
3,000,000 » 14 3,000
OEYEIl XN&tx =&H 2,000,000 14 2,000
OJN2EA YRFH0U OGE =l
2,000,000& x14 2,000
02 =224l 30,500 0 30,500
OFAXE KA 30,000,000& » 1 30,000
OCCTV #2123 500,000& » 14 500
202 odl 5,000 0 5,000
01 = LH o4 1l 5,000 0 5,000
O=EUEx & IIME S MalJl Melly®et
2% 0l 2,000,000& =14 2,000
ON2HEA HE2FE Yl 3,000,000& »1H 3,000
301 LBEAZ 500 0 500
12 JIEtE &= 500 0 500
OMIIESEED & L3ES A NZHS
500,000& 14 500
405 THebH S| 30,000 0 30,000
01 XA =2 ZFH SHI 30,000 0 30,000
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